BiEEIO=-T
AHRBARR WRBTE (1)

BHEH 2N, 20 —V22° +1=0%T7-F Lx,
(1) 2%k L,
(2) zEWHRTHEYE,



BEEYO_-_T

HiFE R z=cosO+isin0 1% 2" =1% K= L35, ROEEZENFNRD L,

(1) 1+ £ 2 =14 2428+ +2°
9
(2) % sinkd=sin0+sin20++sin90

(3) % sin’ kO =sin’ 0+ sin’ 20+ ..+ sin’ 98



BEEYO-T

X4+ x" (X TEDOEE) Za? +x+1 TEI-T-RVERD L,



BEEYO_-_T

BHREOBI2,} (n=1,2,3,--)13,

2= 2,=1+i,2,,.,—2,, :(1+i)(znﬂ—zn)

IZEDED BTN,
(1) z, 7KDL,

(2) 2 K2, 2, ERESIH, ERTEE, 8 DOMITL, L, -, I, CCELIIHAE IR L, F2, £
DI NRD T ST RD L,



